
ECHNICAL INFORMATION

For Models

Country

Description

T 69818

Subject

Current part New part NoteQ'tyItem No. I/CQ'ty

Implementation

Interchangeability(I/C)

Current New

Change of Motor Housing

HM1200, HM1200B, HM1200K, HM1211, HM1211B, HR3850, HR3850B, HR3850K, HR3851

All countries

Motor housing has been changed as illustrated below.

See 
below.

See 
below.

See 
below.
See 

below.

2 2Yes

Motor Housing
159034-1

Motor Housing
159034-1

1 1Yes

From December 2003 production
HM1211: Discontinued since October 2003

Motor housing (159034-1)
with convex Makita logo

Makita labels (819063-3/pc.)
have been stuck on the concave
square areas of Motor housing
(159034-1) with Makita
logos molded.

Spring Washer 5
(942101-7)

Hex. Socket Head Bolt 
M5x16        (922222-1)

Hex. Socket Head Bolt 
M5x16 (with washer)

(922221-3)

Hex. Socket Head Bolt 
M5x16
922222-1

Hex. Socket Head Bolt 
M5x16
922221-3

Spring Washer 5
942101-7

2

Makita Label
819063-3

2
Interchangeable

as a set

Interchangeable
as a set

All countries except 
Asian countries

Item No. of Hex. Socket Head Bolt
Model

Item No.
HM1200

058
HM1200B

058
HM1200K

069
HM1211B

058
HM1211

056
HR3850

084
HR3850B

081
HR3850K

084
HR3851

087

Item No. of Spring Washer
Model

Item No.
HM1200

057
HM1200B

057
HM1200K

068
HM1211B

057
HM1211

055
HR3850

083
HR3850B

080
HR3850K

083
HR3851

086

Item No. of Makita Label
Model

Item No.
HM1200

099
HM1200B

095
HM1200K

103
HM1211B

094
HM1211

090
HR3850

119
HR3850B

118
HR3850K

121
HR3851

123

Item No. of Motor Housing
Model

Item No.
HM1200

053
HM1200B

053
HM1200K

064
HM1211B

053
HM1211

051
HR3850

079
HR3850B

076
HR3850K

079
HR3851

082


